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Analytical Inelastic (Pushover) Procedure

Definition of Resistance

In the present work two alternatives ways are used to determine the seismic resistance of the
whole structure

‘ Local Resistance Definitioﬁ ‘ Global Resistance Deﬁnitior{

When one vertical element reaches first its
max. acceptable deformation (5, ) for the
examined performance level.

When the whole structure reaches its max.
acceptable deformation (8, ) for the
examined performance level.

8, @S follows: 8 ax as follows:

where §, and &, are the yield and failure where §, and §, are the yield and failure
deformations of the element. deformations obtained according to KANEPE
(or EC8-3) from the capacity curve of the
whole structure.

Capacity Curve
A Spax = 6y V (Base shear)
B: Smax = [0.5(8, + 8.)|/Vxa
C: Spax = 8u/Vra
(KANEPE 2017)
517 — 63' + 5” _ 63' + 61:
max — 2 de - 3
) ' (Top displacement)
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Failure Index

Approximate Method Inelastic (pushover) Analysis

In terms of base shear In terms of base shear

* Force Local Values (FLV)

A=V;‘eq _ Vreq =@ * Force Global Values (FGV)
Ve BV B Ve
Ay ==
Ve

In terms of displacement

* Displacement Local Values (DLV)
« Displacement Global Values (DGV)
8,
s = 8, is the target displacement
(Smax






